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Section A (17 x 2 marks)

For each question, choose the correct answer and writs ifs number
in the brackets provided.

1. In 6134, the digit 3 stands for
(1) 3 (2) 30

(3) 300 (4) 3000 (

J

At

2. Which of the following numibers is 1000 m TH807?
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(1) 8680 ()

(3) 7780 4) serd S
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3, Thereare  indmin35s.
(1) 140 s (2) 24l
(3) 275s 4y 435 s i 3
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Which one

©

Mrs Lim had 6
i the length of
leit?
(1) 450 om

.
(3)

(@)

S50 om

10.
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(2) 38535
(4)  $€8 05
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of the figure below is shaded?
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14, Eight 2-dollar notes, four A-cent coins and thres 50-cent soin

§1i%
the same as

(1) $2.55 (2} $5.35
(3)  $17.70 () $19.50 { )
15, Tha shaded area in the figure below is 17 cm?,
Vhat is the area of f}m whole figure?
(1Y 18 (2} 04
(3) 30 (4 30 ( 4

6. Sulintook 11 25 min to *th ner bedroom. She ook 45 min more
to paint the living room. How much time did she ake 1o paint both

rooms?

(1) 2n10min (2) 155 min
(3) 2h5min » (4} 3135 min { )
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Lonk at the figure below.
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Section B (17 x 2 marks )

Write the answers in the blanks provided in the answer sh

cod,

21, Write 8315 in'words.
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23, Find the product of &

1
anda o,

24, The sumof 2 numbers is 8Q7. fone of the numbey
the other number?

Answer
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meake T whole.
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The bar graph shows the amount of money

saved ;

PR oy
\)

last year. Study the graph and answer questions 3C o

1000
200
800
700
600
500
400

Amount in dollars

300
200

100

ochildren
DS

Sl

Mindy saved $

Sittsaved§__ _ _ lessthan James,

Ravi saved twice as much money as

o]
.
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33. NMies Deviieft h { 11.25 am and reached Jog’s house at 1 oy

How long wag t;‘we '-:Q 0 wey rom ner fiat fo Joe s house’

z

CAnSwE 3! min

34, Hashimiook 4 Aée( to; complete his project. Lina took ~dayq b
compiete har nroiert. How much faster did Lina take o complete
er project than Hn shum’?

ANSWET | days
™
r ey Do R R S L - A n >
35 What fraction of the fiqure is shaded?
Answer

MA T PITSA2 72003 Page 10 of 14




)
(@)}

In the figure below, how many angles are smaller thap a gnt an

A
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Arnswer .

37, There are 50 red and green pens in a box, 1f Johr puts Ind more
green pans, there will be twice as many green pans as red pens.
Fow many red pens are there in the box?

38. Refer to Booklat I
39. Refer to Bookiet K.

40. Referto Bookiat I<.
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section € {3 x4 marks )

Work out the probien sums below. All working, statements and

answers must be clearly shown.

41 Thres poles mensuring 140 cm, 1 m 35 am and 1 m 65 em are
placed i & straight fine. What is the lola length of the 3 poles?

f N~ . A f
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42, The mass.of a-box containing 7 tins of milk is 2250 G. Irthe mass of
eacn tin of milk is 200 g, what is the mass of tha am oty box?
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43, Al starte work at 7 AR am and goes horme at 4.00 om. He has his tea
preak for 30 min and funch break for 1 hour, How long does he work'?
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1) 2 ' 28) 2.50 a.w,

2) 4 29) 14

3) 3 30) 850

&) 3 - 31) 350

5) 1 32) Towm

6) 2 33) 1 h 3% ain
7) i 346) 3

8) 4 35% 3/8

3) 1 38) 3

10) 3 37) 18

11) 3 ' 4 4w 40 en

12) 4.0 . : 42).850 ¢

13) =2 42) 4 h 45 min
14) 3

13) 4

16) 4

17) 2

21) nine thousand three hundred and fifteau.

22) 7924
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